(9] - )

53

2018 7174

2018 #H=F

AR, S LEHS B AA(A) | AAHA+B)
15,830,723 63,997,297 79,828,020
15,830,723 63,997,297 79,828,020
15,820,203 62,231,212 78,051,415
8544 325,816 3,585,582 3,911,398
52,666 281,497 334,163
| 52,666 281,497 334,163
LA ALER Y 15,000 11,120 26,120
(REETA =R R R B 15,000 11,120 26,120
1) 918 210-01 |14,0009 x 70v= 560 420 980
2) SAFLEN) 210-01 20,0009 X 90% x 23] = 2,600 1,000 3,600
3) 2] 210-04 18,0009 x 350 x 24 = 2,400 3,200 5,600
4) 7+211) 210-04 12,0009 x 3509 x 23] = 600 800 1,400
5) E47-21H] 210-01 |15,00091 X 3007 = 4,500 4,500
6) A [LREPHA ] 1,180 1,000 2,180
7h 7]E 210-06 |160,0009 x 89 = 640 640 1,280
W x3 210-06 [90,0009 X104 = 540 360 900
7) 7v=k3) 230-02 30,0009 X317 x 23] = 660 1,200 1,860
8) FAirUxw 210-07 |500,0009 x54= 2,500 2,500
2. [Ex] 72 EAAA Y 37,666 0 37,666
7} 7|2 A A 4,216 4,216
1) A [ RPEAR 500 500
7hH 71&= 210-06 |160,0009 x 28 = 320 320
W) =3 210-06 90,0009 x 27 x 1A 7k= 180 180
2) Yixn 210-01 |14,000€) x 12v= 168 168
3) ol H] 210-01 |5,000¢ X 100%* x 23] = 1,000 1,000
4) 214) 210-04 18,0009 X 1009 x 24 = 1,600 1,600
5) 7F21n] 210-04 12,0009 x 1009 x 23] = 400 400
6) 7+ers 230—02 20,0009 X107 x 23] = 400 400
7) BAFLEZ 1] 210-01 |7,400€1X10F % 23]= 148 148
. SEE YAl Y 33,450 33,450
1) o3n) 220-01 |75,0009 x 38 x 10 = 2,250 2,250
2) FIAIGAME Sk 210-06 50,0009 x40 x 93] = 18,000 18,000
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719 AR R s wSX] A (Sl @ H9)
Hopnm R =+ A ApeI e B NESTE A7 20189 71 | 20184 HF
Abel A} A (B) o 2k (A) o AH(A+B)
3) A oin] 220-01 |75,0009 X 407 x 2= 6,000 6,000
4) Fredentn) 210-04 40,0009 x 257 x 22 = 2,000 2,000
5) AFE o)) 210-01 |20,0009 x507]= 1,000 1,000
6) A= 210-07 |600,000¢ x 2t]= 1,200 1,200
7) 7)1 A A T4 430-01 |1,000,000¢ x 3tf= 3,000 3,000
BolmSAE 125,000 1,271,846 1,396,846
oS¢ 125,000 33,046 158,046
1 FALu A &Y 45,000 6,006 51,006
7}F oA WS A 72 A 45,000 45,000
1) 29529 620-03 |5,000,000¢ x 97} ¢ = 45,000 45,000
2. 4-x 9497} 0 5,040 5,040

7}, XL E A A= A5,040 5,040

1) AAA7S 210-06 |0¢l= ~2,250 2,250

2) AHAF 7 G 210-06 [0€¥= 21,080 1,080

3) A 7ton) 220-01 |0d= £~900 900

4) H719 QA7 oI ) 220-01 |09= A810 810
v G AL 7P A " 1,280 1,280
1) 7+eh3) 230-02 30,0009 x10%= 300 300
2) A=) 210-06 |70,0009 x5 x 23] = 700 700
3) A o]n] 220-01 |20,0009 x5 x 2= 200 200
4) 7FAn] 210-04 |2,0009 x 207 x 23] = 80 80
L= R - Rk 3,760 3,760
1) 7+3 230-02 30,0009 x17%= 510 510
2) YAFE-En) 210-01 10,0009 X 95%F= 950 950
3) Ao [Aub A ] 210-06 |160,000¢ x 28 = 320 320
4) Y8 210-01 |14,0009 x 20m]= 280 280
5) olzjn 210-01 |9,0009 X 50%-= 450 450
6) d<=u}k 210-01 |50,0009 % 17}= 50 50
7) 7+211) 210-04 |2,0009 x50 x 23] = 200 200
8) 21| 210-04 |8,0009 x50 = 400 400
9) A7 210-07 |600,000¢ x 1dj= 600 600
3. SolzeA Y 80,000 0 80,000
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7138 - AR e e S A 9 (cFe] : 19
Hopr 3 3 =4 A - ApeI e B s =749 | 2018d 714 | 2018 HE
A A A T - (B) A (A) JAH(A+B)
7b. XD A G B Qb A of 7 24 80,000 80,000
1) ¥HFA4d 620-03 |2,000,0009 x 31719 = 62,000 62,000
2) AHF x4 620—10 |2,000,0004 x 974 = 18,000 18,000
EFuSAE 50,450 108,391 158,841
EF S assEAd 50,450 92,791 143,241
1. [BalEsuS§AaM4 50,450 0 50,450
7F. 7o sk lE o w5 Al 3t 5,250 5,250
1) ztolrl== ool d| A 3,750 3,750
71 AR [LEEAR2] 210-06 |100,0009 x 1% x 253]= 2,500 2,500
) SAE-En) 210-01 (10,0009 x100%F= 1,000 1,000
th 73 230-02 25,0009 x 10 = 250 250
2) AT BAT 1,358 1,358
7 SAFE-EN) 210-01 10,0009 X 20%= 200 200
W) A [L AR 160 160
(1) 71 210-06 |100,0009 %18 = 100 100
(2) =7} 210-06 |60,0009 x1= 60 60
o s 210-01 |14,0009 x 6v)= 84 84
2}) ol zn] 210-01 10,0009 X 46%-= 460 460
up) 7+-A1n] 210-04 12,0009 x102W= 204 204
vh g3 230-02 |25,0009 x10%= 250 250
3) dwEAzZE WL 142 142
70 A (Y REEAR2] 210-06 |100,0009 x 1= 100 100
W) daug 210-01 |14,0009 x 3v}= 42 42
| R | o el R A = U R R e 28,000 28,000
1) @A L HFLS 9,600 9,600
7h JA 5 210-06 70,0009 x5 x 103]= 3,500 3,500
W) A [ eAR2] 210-06 |100,0009 %34 x 153 = 4,500 4,500
th SAFL-EN) 210-01 |10,0009 X 100%= 1,000 1,000
) 7h3) 230-02 [25,0009 x 12 X 23] = 600 600
2) AP HAF 11,060 11,060
7h SAFE-EH] 210-01 |10,0009 X 400% = 4,000 4,000
L) AR [ REAR2] 1,600 1,600
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GO )

AFelu) e == Az R} 78 4 20189 714 | 2018 HF

(B) JAH(A+B)

(1) 71= 210—-06 100,000 x5 x 23] = 1,000 1,000
(2) =3} 210-06 60,0009 X5 X 24| 3= 600 600
o) das 210-01 |14,0009 x 181= 252 252
2 <ln) 210-01 |10,0009 x 1003 x 28] = 2,000 2,000
vh) 7FA1H] 210-04 [2,0009 X577 x23]= 2,308 2,308
v 7+ 230-02 |25,0009 x12% x 338]= 900 900
3) A ARG FA L E O g 2,340 2,340
7h SYALE-F1] 210—01 [10,0009 X 20&= 200 200
h 2l2n) 210-01 10,0009 X120%= 1,200 1,200
b Arle 210-06 |50,0009 x 3% = 150 150
&) A 310-03 [50,0009 x 7= 350 350
v}l 7FA1H] 210-04 |2,0009x70%= 140 140
Hp) 7H2-3] 230-02 [25,0009x129= 300 300
4) AgddEA4d 4,000 4,000
7hH AgAgA Y 210—06 [100,0009 X 3% X 103]= 3,000 3,000
) ARE-EH] 210-01 10,0009 x50%= 500 500
h 7F21H] 210-04 |2,0009 X 259 x 103]= 500 500
5) TR & 2] 210-01 10,000€ x100%= 1,000 1,000
. 558w A8 (3hd) A9 4,000 4,000
1) 55w A8 7] Al A A ek 4,000 4,000
7h SYALE-+E1] 210-01 [10,0009 x200% = 2,000 2,000
) 2l2n) 210-01 10,0009 X150%= 1,500 1,500
th 73 230—-02 |25,0009 x10™ x23]= 500 500
2}, ol e A m| e A & o 7t 3} 10,000 10,000
D 55T dzza9eqy 4,000 4,000
7h B|AFEEH) 210-01 [10,0009 X 75%&= 750 750
) A E8) 210—-11 20,0009 x150%= 3,000 3,000
o 713 230-02 |25,0009 x10%= 250 250
2) TN BFHAPQAIZZ LY 6,000 6,000
7P ZEEd e 210-07 600,000 x40]= 2,400 2,400
) SBARE-EH 210-01 10,0009 X 175%= 1,750 1,750
th A1) 210-04 [8,000¢ x 2009 = 1,600 1,600
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(9] - )

=+ A - Aol el ERpESS . A 20184 714 | 20184 HF
A A B T - ) S AH(A) A (A+B)

b 7heks) 230-02 25,0009 X104 = 250 250

nh, S50 SA A AlE o 37t 3} 3,200 3,200

1) ZofjstyrtEx L 2 1AL 3,200 3,200

7h A= w 210-07 600,000 x 1t= 600 600

) ARE-EH] 210-01 10,0009 X 185%= 1,850 1,850

oh) An] 210-04 |8,0009 x50 = 400 400

2h) 7+ 210-04 |2,0009 x50 = 100 100

uh) 7+3] 230-02 25,0009 x 104 = 250 250

IR TR s S | 7,700 96,035 103,735

P i B el B e D A D ) 7,700 27,140 34,840

1. [F2]¢3 49 7,700 0 7,700

7}, g w99 H) 7,700 7,700

1) A ALA =N 210—11 20,0009 X 235%= 4,700 4,700

2) ZAr e (B2 A2] 210-06 |30,0009 x 17 x 60A] 7k= 1,800 1,800

3) 93¢ 1x L H]| 210-06 |100,0009 %19 x129= 1,200 1,200

A& w84 3} 45,700 487,634 533,334

ASSHTEXNY 45,700 360,886 406,586

1. 7 eEESAX A 45,700 292,630 338,330

7} @70 30,700 18,430 49,130

1) 24] 310-01 |8,0009 x30% x 732 = 8,560 8,960 17,520

2) 7+ 210—04 12,0009 X309 x 833 = 3,000 1,980 4,980

3) WEH] 310-01 |2,000€ X307 x 97 = 4,020 1,800 5,820

4) THELEZIn] 210-01 |142,6009X10% %58 = 5,440 1,690 7,130

5) ¥2Zuk) 210-04 40,0009 %149 x18YU= 6,080 4,000 10,080

6) 2FEF 2w 210-07 600,000 x 2t]= 1,200 1,200

7) SAFL-En) 210-01 |10,0009 X 10% x 243 = 2,400 2,400

U S usEreadx g 15,000 266,500 281,500

1) FHxFSw 620-03 [1,219,0009 x98™ = 7,662 111,800 119,462

2) T W 620-03 1,219,000 %1028 = 7,338 117,000 124,338

SEHEEFX 4 15,400 347,259 362,659

T=u 5843 15,400 347,259 362,659

\1 3 ES A PAIA Y 15,400 16,400 31,800
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(9] : 2 9)

= [ A A %A% RENE LA R T Gl iy
A A} (B) o 2k (A) 4k (A+B)
7}, A& 210-01 |17,4509 X 100% X 103]= 9,450 8,000 17,450
. 21H] 210-04 [8,0009 %1509 x44]= 1,600 3,200 4,800
T}, ol A n) 210-01 |5,0009 X 600%-= 1,000 2,000 3,000
g}, 7+2)1] 210-04 |2,0009 X600 X 23] = 1,200 1,200 2,400
vl 7k 230—02 25,0009 x10% x 3] = 750 750
Hf, o] H] 220-01 20,0009 X207 X6 = 1,400 1,000 2,400
SYYEA = 25,000 102,110 127,110
st Z oA g 25,000 83,810 108,810
1. 7 ZF A 9g 25,000 83,810 108,810
7h, SR G E ) A E T2 e 25,000 25,000
1) =9nj=d 24,000 24,000
7hH FHsw 620-03 |5,000,0009 X 43.= 20,000 20,000
) E=8ky 620—10 |4,000,0009 X 1iL= 4,000 4,000
2) WALG-EH] 210-01 |20,0009 X 25% x 23] = 1,000 1,000
g T\ = & S B 3,900 316,554 320,454
eiget o\ d= B S B 3,900 316,554 320,454
1. FEAAFTFA AT EAY 3,900 223,800 227,700
7} WeeAlE] - 3,900 190,000 193,900
1) A =G0 1,400 171,036 172,436
7 AxS 110-03 |70,0009 x5 x5 = 1,400 350 1,750
2) o] 220-01 |10,0009 x5% x 1559 = 2,500 5,250 7,750
A4 20,800 2,537,965 2,558,765
BT STSA Y 20,800 1,587,500 1,608,300
W53t w - 20,800 1,587,500 1,608,300
1. sAtol &g g5t w ey 20,800 235,200 256,000
7} FH xS 620-03 |1,600,0009 x1268+5= 6,400 195,200 201,600
15 R RaIgTA 620-03 |1,600,0009 x 2887 = 14,400 30,400 44,800
A2 A3 884,261 29,930,781 30,815,042
St P A4 878,182 17,196,032 18,074,214
Sw-gFH| A 878,182 17,196,032 18,074,214
1. gt 7] &2 H] 838,102 17,037,602 17,875,704
7} 7189 838,102 17,037,602 17,875,704
% - SaAAdnY - FReInAd - FaeduA9 6/13




713 AN E R e SAAH (Sl @ H9)
Hopr R 9] A - Apeluj el == P 13574 | 20189 714 | 20183 H=
Abel A} A (B) o 2k (A) o AH(A+B)

1) 429 620-02 |1,106,517,0009 = A51,290 1,157,807 1,106,517

2) 25w 620-02 |12,696,759,000¢ = 571,771 12,124,988 12,696,759

3) =8hw 620-02 |4,072,428,0009 = 317,621 3,754,807 4,072,428

2. 71292 4 40,080 158,430 198,510

7} A E A Y 40,080 88,430 128,510

1) ¥HExEgN 620—03 |9,270,0009 X 585 9,270 37,080 46,350

2) ¥¥Esw 620-03 10,270,000 x 88k 30,810 51,350 82,160

ArehA 7 A | 6,079 12,734,749 12,740,828

TG A A TR A 6,079 2,158,887 2,164,966

LA S Eu A3 AR E 6,079 2,158,887 2,164,966

7. A S 620-09 |2,164,966,0009= 6,079 2,158,887 2,164,966

Sty W& AR 14,589,326 25,303,119 39,892,445

EIgmARI AT A 10,075,505 13,584,449 23,659,954

St A ASNE 10,075,505 13,584,449 23,659,954

1. &I R 297,315 208,170 505,485

7F sHe 285,075 208,170 493,245

1) dFx58w 148,925 148,925

7hH e A Al A 420-03 |175,0009 X851 = 148,925 148,925

2) Az Ssh 136,150 136,150

7hH e A GAlA 420-03 |175,0009 X 778 = 136,150 136,150

v, ¥ty 12,240 12,240

1) ¢tFasew 12,240 12,240

7h EA GG A S E ) A 420-03 [102,000€ X 120m= 12,240 12,240

2. 3E&F#RF 147,150 0 147,150

7t a3 e 147,150 147,150

1) etEdxta1 58w 29,430 29,430

7}) A A} 420-03 19,810,0009 x 34 = 29,430 29,430

) AL S 117,720 117,720

7}) A A} 420-03 19,810,000¢ x 124 = 117,720 117,720

L AEEZIE 9,631,040 0 9,631,040

7}.%;§§§1iﬂ 9,631,040 9,631,040

1) B sty 9,631,040 9,631,040

SN AR

- SgEANAE - FuAAF

=

=
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3 GO

A5 Apeluj el B NESTE 1257 4 20184 714 | 20184 HF
A B T - (B) S AH(A) A (A+B)

7hH AEE=EN= 677,796 677,796

(1) 7)Z=E7H) 420-03 |244,0009 X 1,225m'= 298,900 298,900

(2) wAFEA 420—03 [13,532,0009 x 282 = 378,896 378,896

) g 6,591,600 6,591,600

(1) A12H] 420-03 [1,770,0009 % 3,600m = 6,372,000 6,372,000

(2) 71 2R748] 420-03 |244,0009 X900m'= 219,600 219,600

oh FALUGEA TGS 2,264,612 2,264,612

(1) 44 420-03 11,910,0009 X 399m'= 762,090 762,090

(2) TEA 7 420-03 |1,850,0004 X 663m'= 1,226,550 1,226,550

(3) BN AZAS 420-03 |114,200,0009 x 14 = 114,200 114,200

(4) 71 2R 420-03 [244,0009 X663m'= 161,772 161,772

2} 7+a)n) 420-03 19,330,000,000¢ X 1.04%= 97,032 97,032

AR A 4,513,821 11,418,670 15,932,491

IANA S AMNA 4,513,821 11,418,670 15,932,491

1. 71elst w8 AH N A A2 247,280 555,731 803,011

7F AP & 116,480 56,255 172,735

1) At zp=skw 116,480 116,480

7H) 2R G 7] A 620-11 |116,480,0004 x 14 = 116,480 116,480

= = i A 130,800 266,490 397,290

1) etz 58w 100,800 100,800

7hH YA A 420-03 [80,000€ x1,260m'= 100,800 100,800

2) J+EEsh 30,000 30,000

7hH s Uy 420-03 130,000,000 x 14 = 30,000 30,000

2. IALEX 41,385 217,818 259,203

7 ey 41,385 81,096 122,481

1) BF5xSey 41,385 41,385

7hH WHE=A 420-03 |1,660,0009 x16.54 = 27,390 27,390

h QT A 420-03 622,000 x 22,54 = 13,995 13,995

3. AAFE 294,300 667,080 961,380

7} 3w 19,620 470,880 490,500

1) +sEE XY 420-03 19,810,00091 x 22 = 19,620 19,620

. sty 274,680 196,200 470,880
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o7 (9] A 9)

o A SREpE -8 PERS 17 | 20189 71 | 20184 ¥
A (B) o AH(A) JAH(A+B)
1) sty e 5eha 420-03 9,810,000 x 2421 = 235,440 235,440
2) 9FAd1EEw 420-03 [9,810,0009 x42= 39,240 39,240
4. w8t A 153,075 783,680 936,755
7F sty 153,075 783,680 936,755
1) 5% x5 420-03 [10,910,0009 x 1.5 = 16,365 16,365
2) tEEHFAd 420-03 |15,190,0009 x 94 = 136,710 136,710
5. A7 A NA 822,990 937,210 1,760,200
7} Ab sk 42,600 42,600
1) Atodx58kw 42,600 42,600
7H A7\ 7rA LeEEA 620—11 |284,000¢ X 150m= 42,600 42,600
v rHsty 280,210 937,210 1,217,420
1) et AFExE8 40,800 40,800
7hH LEDZ"A1A 420—03 4,080,0009 x 104 = 40,800 40,800
2) s xs 48,960 48,960
7bH LEDZH A A 420-03 [4,080,0009 %124 = 48,960 48,960
3) dFx53shw 95,570 95,570
7hH FHAAIA 420-03 ]95,570,0009 x 14 = 95,570 95,570
4) }ExEW 23,120 23,120
7hH AN gEEEA 420-03 289,0009 X 80m= 23,120 23,120
5 EEHAFAL 71,760 71,760
7h LEDZ" A1 420-03 3,120,0009 x 234 = 71,760 71,760
o sty 500,180 500,180
1) =AY 8k 5 e 144,500 144,500
7H) A7 A gk 420-03 |289,0009 X 500m= 144,500 144,500
2) AFAd 5w 355,680 355,680
7hH LEDZ " A4 420-03 (3,120,000 %1142 = 355,680 355,680
6. XAZAENA 124,380 874,115 998,495
7F sty 124,380 466,425 590,805
1) 5% x50 420-03 16,910,0009 x10.54 = 72,555 72,555
2) dotx5Sstw 420-03 |6,910,0009 x7.54 = 51,825 51,825
7. AN 87,950 0 87,950
7} &gt 60,750 60,750

m
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3 GOREE)

Aﬂl?‘ }\]_(ﬁLHog E_A_HE A %LH 17_(]"%‘751911] 20181& 7]@ 2018]{3 3‘]%
A+ E o - (B) o AH(A) | oIAH(A+B)
1) Atz 11,900 11,900
7hH S5l A A 420-03 [170,0009 X 70m= 11,900 11,900
2) ddtxsstudEtusd 10,200 10,200
7hH F5l A A 420-03 [170,000¢ X 60m= 10,200 10,200
3) gAxEE N 13,150 13,150
7H EB A 420-03 [13,150,0009 x 17} 4= 13,150 13,150
4) OPE%%‘-E%QE 25,500 25,500
70 w5l A 420-03 |170,00091 X 150m= 25,500 25,500
= #‘“ﬁﬁﬁ 27,200 27,200
1) 5ozt sgn 27,200 27,200
7} Sa] T A 420-03 [170,0009 X 160m= 27,200 27,200
8. YA AN 378,630 643,070 1,021,700
7} F9Hehn 378,630 378,630
1) tExuEstw 420-03 [6,010,0009 x40.54 = 243,405 243,405
2) o)A =W 420-03 16,010,0009 x 22.54 = 135,225 135,225
9. X 25,800 189,540 215,340
7b sHEw 25,800 189,540 215,340
) ATz at St 420-03 |258,0009 X 100m= 25,800 25,800
10. M2 A2 X 4,470 229,460 233,930
7} Ab g 4,470 4,470
1) Atz w 620—11 298,0009 X 15m= 4,470 4,470
11. A& A 46,410 0 46,410
7t s 21,930 21,930
1) ds%stu 420-03 [102,0009 X 215m= 21,930 21,930
= = el 24,480 24,480
1) &5 420-03 |102,0009 X 240m= 24,480 24,480
12. 94X 98,700 375,060 473,760
7k AR g 16,450 375,060 391,510
1) AroAxzsw 620—11 |329,0009¥ X50m'= 16,450 16,450
U HEw 82,250 82,250
D AFxestudgEnt 420-03 |329,0009 X 250m' = 82,250 82,250
13. SHEZ A 242,052 14,032 256,084
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7138 - AR e e S A 9 (cFe] : 19
Hopnm 3 3 =+ A - ApeI e B s 1257 4 2018 717 | 2018 HF
AFA AFA AHA (B) of| Ak (A) A4k (A+B)
7} A e 180,662 180,662
1) AroAzZsw 620-11 |877,0009 x161m= 141,197 141,197
2) BYFstu 620-11 |877,0009 X 45m= 39,465 39,465
v, sty 61,390 61,390
1) gAdFTd 5w 420-03 |877,0009 X70m= 61,390 61,390
14. ZEAA 945,000 577,500 1,522,500
7} AR e 245,000 245,000
1) ZetEslw 620-11 |17,500,000¢ x 1421 = 245,000 245,000
. sty 700,000 350,000 1,050,000
1) et EdExSs 420-03 17,500,000 x 294 = 507,500 507,500
2) §ExEshn 420-03 17,500,0009 x 114 = 192,500 192,500
15. A=A 195,800 1,904,600 2,100,400
7F sty 195,800 1,904,600 2,100,400
1) x5y 420-03 18,900,0009 x 104 = 89,000 89,000
2) EeEFExTEN 420-03 8,900,0009 x 124 = 106,800 106,800
16. XZFA}t 133,114 524,320 657,434
7} EYsnw 133,114 151,420 284,534
1) §% x5 420-03 |113,0009%x1,178m'= 133,114 133,114
17. A AN =E 87,940 249,596 337,536
7F A3EAIAA G 7B A 4,500 4,500
D A g 4,500 4,500
71 =skw 620—-11 |1,125,0009 x 43 = 4,500 4,500
. AZFAIALG7AR A 47,328 47,328
1) ¥¢stu 47,328 47,328
7hH 258w 620—04 |1,374,0009 X 261.= 35,724 35,724
W) Fstw 620—04 [1,934,0009 X 61.= 11,604 11,604
ot} A 3FTA LA 7] ¢kA A A 36,112 36,112
1 3Hgw 36,112 36,112
7hH nEstw 620—04 2,257,0009 x161= 36,112 36,112
18. W& 35,590 0 35,590
7F +HE 35,590 35,590
1) 5Fx58w 420—03 35,590,0009 X 17 &= 35,590 35,590

11/13




oA S Bk GOEEE)

1:’1"?4 Aﬂl?‘ }\]_LﬁLHo:] E—A—]IE A iLHO:] 15(]-%73911 20184 7]@ 2018 3‘,%

A | A o B s (B) AAH(A) | AAT(A+B)
19. AR FAAE A 126,500 0 126,500
7}, Abg st 39,500 39,500
1) At Az ew 39,500 39,500
7h oA 7 eke ] 620-11 |39,500,0009 X 12 = 39,500 39,500
[ = Rl 87,000 87,000
1) etzassw 47,000 47,000
7hH WA A 420—-03 [47,000,0009 x 14 = 47,000 47,000
2) YA Ax 58t 40,000 40,000
7 WA AN 420-03 |40,000,0009 x 12 = 40,000 40,000
20. A5AA 422,455 174,928 597,383
7}, Abg et 31,552 174,928 206,480
1) 44 Fstn 31,552 174,928 206,480
7H A ENA FAPH AR F7F | 620-11 68,0009 X 464m'= 31,552 31,552
B = Kl A 66,410 66,410
1) A3 z=5stutg|sFE a3 420-03 |229,0009 X 290m'= 66,410 66,410
o sHEw 324,493 324,493
1) AR 58w 420-03 |229,0009 x1,417m'= 324,493 324,493
S Ay 2,000 23,530 25,530
2,000 23,530 25,530
R BT il DR 2,000 23,530 25,530
FAATENEL LG Y 2,000 18,130 20,130
1. YL W HF AR =T 2,000 14,630 16,630
7}, S F S 3hd Xl o) & %] 2,000 3,000 5,000
1) AL B 320-02 |5,000,000€] x 15+4) = 2,000 3,000 5,000
Sy 8,520 1,742,555 1,751,075
ARL S R 7,100 1,399,968 1,407,068
EPF7|BAA 7,100 711,640 718,740
DA LA # e 7,100 711,640 718,740
1. 713X A & e 1,000 20,400 21,400
7} erE SR 9 F 1,000 1,000
1) A3FAIAA 7t A A 420-01 1,000,0009 x14)= 1,000 1,000
2. A A LA AL DAL 6,100 144,590 150,690
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Abel A} A (B) o 2k (A) o AH(A+B)
7h P AFF e S 1,525 1,525
1) A3TAIAAR 7 erA A7 420-01 |1,525,0009 X 14= 1,525 1,525
. ) tEe et u et g 1,525 1,525
1) AZEAAA7|AAA 420-01 |1,525,0009 x 14 = 1,525 1,525
o P EF AT 1,525 1,525
1) A3FAALA 71 A A 420-01 |1,525,0009 x124= 1,525 1,525
g ) YsFet 1,525 1,525
1) A3FEAAL A7+ A7 420-01 |1,525,0009 x 14 = 1,525 1,525
of v 8| " 7] €} 1,420 0 1,420
AuH| L7 et 1,420 0 1,420
AAE=E 1,420 0 1,420
1. B8 1,420 0 1,420
7F et 2T AT PR 2T 710-02 |1,046,0009 X 13]= 1,046 1,046
U AFa7| ALz Ad S E 0 2 Z98 | 710-02 |374,0009 x13])= 374 374
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